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1. Q1 is compulsory o A o beb o

2. Solve any three out of the remaining from Q.2 to Q 6"-

3. Figures on the right hand side indicate marks. ;: ;

4. Use of statistical tables is allowed.

Q.1. a) A continuous random variable has P. D F f(x) kx2
1, and f(x) = 0, otherwise.. Find k and mean

the line x=41,y = +1, 56 (x + xy) dx - (x a ’,' ’ f S

d

--';'to xi + sz- 7 xl,xz > 0 6
hi -,-rl P e’ I

,'"*5_":.--"13’5}’2) i + (y% + x%y)j, prove that F is

3
6

6

| '-‘et the hypothesm that the dle is unbiased. - 8
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. Q. P. Code: 25068

Number |1 2 3 4 5 bt Total §
obtained _ | R s |
Frequency | 15 20 25 15 29 |28 A 1320 L

Q.4 a) Obtain Spearman’s coefficient of rank correlation from the given data. 6

x [32 [55 149 T60 [43 37 [43 [49 [i0
'y |40 [30 |70 |20 |30 |50 r72 60 [45p8] 28
b) Use Gauss’s divergence theorem to evaluate, f f x2 dydz+y

s
are 1.99 and 1 9.. c : 3 | as a sample drawn from the normal
populatlons W1th d standard deviations? (Given: Fygy5 =

FO b2 420 with dof = 12 and 8) 3

(130N alary X1ina bi g organlzatlon 1s normally distributed, with mean
ndard dev1at10n Rs 250. What should be the minimum salary of

.....

helghts of six randomly chosen sailors are 1n inches: 63, 65, 68, 69,71and

The heights of ten randomly selected soldiers are 61, 62, 65,66,69,69,70,71,72
and 73. Dlscuss in the light that this data suggests that the soldiers are on an
average taller than sailors. 8
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